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e Question No.1

Match List-I with List-Il and select the right code -

List-l List-ll

(a) Nautanki (1) Mewar

(b) Rammat (i) Bikaner

(c) Tamasha (1i1) Jaipur

(d) Turra-Kalangi | (iv) Dholpur - Bharatpur

Options:

1. (3)-(0), (b)-(ii), (0)-(iii), (d)-(iv)
2. (a)-(iv), (b)-(i), (c)-(iii), (d)-(i)
3. (a)-(ii), (b)-(iii), (c)-(iv), (d)-(7)
4. (3)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
5.

Answer : (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

e Question No. 2

As per Administrative Report 2020-21 of the Forest Department, the top two districts in forest area are -

Options:

1. Baran, Sirohi
2. Udaipur, Alwar
3. Baran, Alwar
4. Udaipur, Baran

5.

Answer : Udaipur, Alwar

e Question No. 3

According to 2011 census, which districts of Rajasthan have recorded less than 100 density of population?



Options:

1. Jaisalmer, Churu, Bikaner

2. Bikaner, Barmer, Pali

3. Barmer, Baran, Hanumangarh
4. Jaisalmer, Bikaner, Barmer

5.

Answer : Jaisalmer, Bikaner, Barmer

e Question No. 4

In which district of Rajasthan the fair of Sitabari is organised?

Options:

1. Barmer
2. Bikaner
3. Bundi
4. Baran

5.

Answer : Baran

e Question No. 5

Who was the Teacher (Guru) of Saint Pipa of Rajasthan?

Options:

1. Ramanuj

2. Ramananda
3. Raidas

4. Dadu

5.

Answer : Ramananda
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e Question No. 6

The districts irrigated by Jawai Dam Project are -

Options:

1. Pali and Jalore
2. Pali and Barmer
3. Sirohi and Jalore
4. Sirohi and Pali

5.

Answer : Pali and Jalore

e Question No.7

Mukhyamantri Anuprati Yojana is related to -

Options:

1. Home construction for weaker people
2. Girl education

3. Well construction

4. Coaching for competitive exams

5.

Answer : Coaching for competitive exams

e Question No. 8

Which one of the following (Mineral-Producing Area) is not correctly matched?

Options:

1. Iron - Nathra ki Pal
2. Manganese - Kalakhunta

3. Gypsum - Jamsar
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4. Garnet - Saladipura

5.

Answer : Garnet - Saladipura

e Question No.9
In which district of Rajasthan a 'War Museum' was established in August, 2015?
Options:

1. Sikar

2. Jaisalmer
3. Jodhpur
4. Barmer

5.

Answer : Jaisalmer

e Question No.10
Name the first woman of Rajasthan who was arrested and expelled during the freedom struggle of Rajasthan -
Options:

1. Smt. Ratan Shastri

2. Smt. Anjana Devi Chaudhary
3. Smt. Nagendra Bala

4. Smt. Rama Pandey

5.

Answer : Smt. Anjana Devi Chaudhary

e Question No. 1M

The dress of Rajasthani ‘Tara Bhant ki Odhni' is popular in -



Options:

1. Dalit women
2. Jat women

3. Tribal women
4. Gurjar women

5.

Answer : Tribal women

e Question No. 12

Which one of the following (Book - Author) is not matched correctly?

Options:

1. Eklinga Mahakavya - Maharana Kumbha
2. Prabandh Chintamani - Merutunga

3. Hammir Mahakavya - Nayan Chandra Suri
4. Prabandh Kosh - Rajshekhara Suri

5.

Answer : Eklinga Mahakavya - Maharana Kumbha

e Question No.13

In which state is the Sabarimala Ayyappan Temple located?

Options:

1. Tamil Nadu
2. Karnataka
3.Kerala
4.Goa

5.

Answer : Kerala
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e Question No. 14
Which one of the following (Folk Dance Area) is not matched correctly?
Options:

1. Bum - Bharatpur

2. Dhol - Jalore

3. Geendar - Shekhawati
4. Gair - Mewat

5.

Answer : Gair - Mewat

e Question No. 15

Match the following -

Musical Instrument Caste

(1) Sarangi (1) Bhope
(2) Poongi (i) Manganiyar
(3) Kamayacha (1) Langa

(4) Ravanhatha Caste | (iv) Kalbelia

Options:

1. (-0, (2)-(ii), 3)-(iii), (4)-(iv)
2. (1)-(iv), (2)-(iii), (3)-(ii), (4)-(i)
3. ()-(ii), (2)-(iv), (3)-(ii), (4)-(i)
4. (1)-(ii), (2)-(0), (3)-(iii), (4)-(iv)
5.

Answer : (1)-(iii), (2)-(iv), (3)-(ii), (4)-()

e Question No. 16

India got Rafale fighter aircraft from which country?
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Options:

1. France
2. Russia
3.USA

4. Japan

5.

Answer : France

e Question No. 17

The use of information and communication technology by the government to ensure participation of people in

administration is called -
Options:

1. Gyansudha
2. Gyandoot
3. E-Governance
4. E-Choupal

D;

Answer : E-Governance

e Question No.18
What was the name of cyclonic storm that came in Arabian Sea in May, 2021?
Options:

1. Yaas

2. Rohini
3. Wayu

4. Tauktae

5.
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Answer : Tauktae

¢ Question No.19
Which handicraftsman received 'Rajasthan Hastshilp Ratna Award' in 2021?
Options:

1. Ganga Singh Gautam
2. Hariom Prajapati
3. Babulal Marotia
4. Anurag Kashyap

5.

Answer : Babulal Marotia

e Question No. 20
Who among the following was awarded the 'Padma Vibhushan' in the year 2021 for sports?
Options:

1. Virat Kohli
2. Mary Kom
3. Kapil Dev
4. None of the above

5.

Answer : None of the above

e Question No. 21
Who among the following has been appointed the Chairman of 6th Finance Commission in Rajasthan?
Options:

1. Bhanwarlal Sharma
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2. Pradyuman Singh
3. Hem Singh Shekhawat
4. Mohan Krishna Bohra

5.

Answer : Pradyuman Singh

e Question No. 22

Mukundara Hills of Rajasthan are part of -

Options:

1. The Aravalli range

2. The Vindhyan range
3. The Satpura range
4. The Plains

5.

Answer : The Vindhyan range

e Question No. 23

Which one of the following (Lift Canal-Beneficiary Districts) is not correctly matched?

Options:

1. Dr. Karni - Bikaner and Jodhpur

2. Guru Jambheshwar - Bikaner, Jodhpur and Jaisalmer
3. Pokaran - Jaisalmer and Jodhpur

4. Veer Tejaji - Nagaur and Jodhpur

5.

Answer : Veer Tejaji - Nagaur and Jodhpur

e Question No. 24
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As per Forest Report 2019, the correct descending order of districts having largest forest area in Rajasthan is -

Options:

1. Udaipur > Pratapgarh > Alwar > Baran
2. Udaipur > Baran > Pratapgarh > Alwar
3. Udaipur > Alwar > Pratapgarh > Baran
4. Pratapgarh > Udaipur > Baran > Alwar

5.

Answer : Udaipur &gt; Baran &gt; Pratapgarh &gt; Alwar

e Question No. 25

Which of the following district of Rajasthan are least affected by Earthquakes?
Options:

1. Ganganagar and Hanumangarh
2. Bharatpur and Alwar

3. Kota and Baran

4. Barmer and Jaisalmer

5.

Answer : Kota and Baran

e Question No. 26

Which one of the following conservation reserve of Rajasthan is not located Jhunjhunu district?
Options:

1. Shakambhari
2. Beer

3. Mansa Mata
4. Gogelav

5.
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Answer : Gogelav

e Question No. 27
In which district of Rajasthan "National Fossil Park" is located?
Options:

1. Jodhpur
2. Jaipur

3. Barmer
4. Jaisalmer

5.

Answer : Jaisalmer

e Question No. 28
The dominant type of soil in Hadoti region is -
Options:

1. Vertisol

2. Alfisol

3. Inceptisol
4. Antisol

5.

Answer : Vertisol

e Question No. 29
Rajasthan State Industrial Development and Investment Corporation Limited (RIICO) was established in the year -
Options:

1.1971



2.1969
3.1967

4.1961

Answer : 1969

e Question No. 30

Consider the following statements and select the correct answer using code given below -

(1) Bhorat plateau is located between Kumbhalgarh and Rajsamand.

(2) Badland topography is found in Chambal Basin.

(3) Raghunathgarh is the highest peak of Northern Aravalli.

Options:

1.1and 3
2.7and 2
3.2and 3
4.1,2and 3

5.

Answer : 2 and 3

e Question No. 31

Who was the first exponent of 'Rolling Plan"?

Options:

1. Domar

2. Mahalanobis
3. Gunnar Myrdal
4. K. C. Niyogi

ixam
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Answer : Gunnar Myrdal

e Question No. 32
Rajasthan Renewable Energy Corporation Limited (RRECL) was formed by merging which two entities?
Options:

1. Rajasthan State Electricity Board and Sustainable Energy Corporation Limited

2. Rajasthan Non-Conventional Energy Limited and Sustainable Energy Corporation Limited
3. Rajasthan State Power Corporation Limited Energy and Rajasthan Development Agency
4. Rajasthan Energy Development Agency and Rajasthan Vidyut Vitran Nigam

5.

Answer : Rajasthan State Power Corporation Limited Energy and Rajasthan Development Agency

e Question No. 33

Match the following -

Development Establishment Year
Institution
(i) RFC (1) 1959
(i) RICO (2) 1964
(i) RSRTC (3) 1980
(iv) CAZRI (4) 1955
Options:

1.()-(), (iD)-(2), (iii)-@3), (iv)-(4)
2. (i)-(4), (i)-@), (iii)-(2), (iv)-(1)
3.(D)-(1), (i)-(4), (ii)-@3), (iv)-(2)
4. (i)-@3), (iD)-(2), (iii)-(4), (iv)-(1)
5.

Answer : ()-(4), (i)-@3), (iii)-(2), (iv)-(1)
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e Question No. 34
In which Five Year Plan, District Industry Centres were established in every district of Rajasthan?
Options:

1. Second
2. Third

3. Fifth

4. Seventh

5.

Answer : Fifth

e Question No. 35
The main centre of 'Kankrej breed in Rajasthan is -
Options:

1. Ajmer

2. Jalore

3. Ganganagar
4. Jhalawar

5.

Answer : Jalore

e Question No. 36
Which of the following is not true for geometric mean?
Options:

1. It is based on all the observations of the set.
2. It is not suitable for further algebraic treatment.

3.1t cannot be calculated if any of the value in the set is zero.
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4. It is least affected by extreme values.

5.

Answer : It is not suitable for further algebraic treatment.

e Question No. 37
The variance of first n natural numbers is -

n+1
@) —

(n+4 1)
(b) =5
2nt-1
8

{d} g

12

(c)

Options:

1a

2.b
3aG
4.d

5.

Answer : d

e Question No. 38

The most appropriate measure to compare the consistency of two series is -

Options:

1. Standard deviation
2. Mean deviation

3. Coefficient variation

ixam
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4. Range

Answer : Coefficient variation

e Question No. 39

A given data has mean = 6.5, median = 6.3 and mode = 5.4. It represents -
Options:

1. Leptokurtic distribution

2. Mesokurtic distribution

3. Negatively skewed distribution
4. Positively skewed distribution

5.

Answer : Positively skewed distribution

e Question No. 40

The most appropriate diagram to represent data relative to monthly expenditure on different items of a family is -

Options:

1. Histogram

2. Pie diagram

3. Line graph

4. None of the above

5.

Answer : Pie diagram

e Question No. 41

If Q0 QO and QO are three quartiles of a frequency distribution, which of the following holds if the distribution is

negatively skewed?



Options:

1.Q0+ Q0>2Q0
2.Q0+QO<2Q0
3.Q0+QO<2Q0
4.Q0-Q0>2Q0
5.

Answer : Q0+ QU&Ilt; 2Q0

e Question No. 42

For discrete distribution, the co-efficient of kurtosis O0is -

Options:

1. Greater than 1
2. Less than1
3.Equal to1

4. Less than or equal to 1

5.

Answer : Greater than 1

e Question No. 43

A systematic sample does not yield good result, if -

Options:

1. Variation in units is periodic

2. Units at reqular intervals are correlated
3.Both (a) and (b)
4. None of these

5.

Answer : Both (a) and (b)

ixam
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e Question No. 44

From a population containing 30 units, 5 units are drawn by simple random sampling without replacement. The

probability same specified unit included in the sample is -
Options:

1.1/6
2.1/5
3.1

4.1/30

Answer :1/6

e Question No. 45

Which of the following is Non-governmental Statistical Organisation?
Options:

1. Central Statistical Organisation

2. Indian Institute of Foreign Trade, New Delhi
3. National Sample Survey Organisation

4. Programme Evaluation Organisation

5.

Answer : Indian Institute of Foreign Trade, New Delhi

e Question No. 46

Laspeyre's formulahas ___________ bias and Paasche's formula has bias.

Options:

1. an upward, a downward

2. a downward, an upward



3. an upward, an upward
4. a downward, a downward

5.

Answer : an upward, a downward

e Question No. 47

The Drobish-Bowley price index formula is the -

Options:

1. Geometric mean of Laspeyre's and Paasche's index formula
2. Arithmetic mean of Laspeyre's and Paasche's index formula
3. Weighted mean of Laspeyre's and Paasche's index formula
4. None of the above

5.

Answer : Arithmetic mean of Laspeyre&#039;s and Paasche&#039;s index formula

e Question No. 48

The main aim of agricultural census is -

Options:

1. Directorate of Economics & Statistics at the centre
2. Inspection of village records maintained by Patwari
3. To classify land for forest and agricultural purpose
4. All of the above

5.

Answer : All of the above

e Question No. 49

Which of the following is yearly publication of CSO?

ixam

0(6



0D
ixam Pees @

Options:

1. Statistical abstract of India

2. Estimates of national income
3. Statistical news letter

4. Only (a) and (b)

5.

Answer : Only (a) and (b)

e Question No. 50

If the salary of a person in the base year is Rs. 2000 per annuli and in the current year Rs. 5000. The CPI is 325, then

the allowance required to maintain the same standard of living is -
Options:

1. Rs.1000
2.Rs1500
3.Rs.1050
4.Rs.2000

D;

Answer : Rs.1500

e Question No. 51
In 1949, the Chairman of National Income Committee was -
Options:

1. D. R. Gadgil
2.V.K.R.V.Rao
3.C.R.Rao

4. P. C. Mahalanobis

5.
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Answer : P. C. Mahalanobis

e Question No. 52
At the centre multipurpose socio-economic surveys are mainly conducted by -
Options:

1. Central Statistical Organisation (CSO)
2. Indian Statistical Institution (ISI)
3. National Information Institution (NII)

4. National Sample Surveys Office (NSSO)
5.

Answer : National Sample Surveys Office (NSSO)

e Question No. 53
Infant mortality rate is the ratio of -
Options:

1. Number of deaths to total population in a region in a year

2. Number of deaths below age one year to number of children born in the same year in the same region

3. Number of deaths below age one month to the number of births in the same year

4. Number of maternal deaths in a year to the number of women of age 15-50 years of same area

5.
Answer : Number of deaths below age one year to number of children born in the same year in the same region

e Question No. 54

Which of the following statement is false?
Options:

1. The crude birth and death rates are not relevant for comparison.
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2. Gross reproduction rate takes into account the mortality factor.
3. Net reproduction rate cannot be greater than gross reproduction rate.
4. If net reproduction rate is > 1, then the population has a tendency to decrease.

5.

Answer : If net reproduction rate is &gt; 1, then the population has a tendency to decrease.

e Question No. 55
A population is said to be stationary, if -
Options:

1. Every year the number of births is exactly equal to the number of deaths
2. Constant mortality and fertility rates are experienced at each age

3. Both (a) and (b)

4. Neither (a) nor (b)

5.

Answer : Every year the number of births is exactly equal to the number of deaths

e Question No. 56
Which of the following statement is true for NRR?
Options:

1. Normally NRR varies from 0 to 5.

2. NRR cannot exceed GRR.

3.If NRR =1, then the female population will exactly replace itself into new generation and population
remains constant.

4. All of the above

5.

Answer : All of the above
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e Question No. 57
byx and bxy are two regression coefficients. If byx > 0, then bxy will be -
Options:

1. Positive

2. Negative
3. Positive > 1
4. Positive <1

5.

Answer : Positive

e Question No. 58

Suppose for estimating y, the equation Y [ 5 - 2x calculations are made on a given set of data, which of the

following is true for this situation?
Options:

1. The y intercept of line is 2

2. The slope of line is negative

3. The line represents inverse relationship
4. None of the above

5.

Answer : The slope of line is negative

e Question No. 59
Two random variables x and y have the following regression equations -
3X+2y-26=0

6x+y-31=0

0(6
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then, the mean values of x and y are respectively:
Options:

17,4
2.6,4
3.4,7
4.4,6

5.

Answer: 4,7

e Question No. 60

If x and y are two random variables and a, b, ¢, d are any numbers provided a # 0, ¢ # 0, then correlation co-efficient

betweenax + band cy +d is -
Options:

1r(ax+b,cy +d)=(ab/cd) r(x, y)
2.r(ax + b, cy +d) = (ac/bd) r(x, y)
3.r(ax + b, cy +d) = (Jac/bd]) r(x, y)
4.r(@x + b, cy +d) = (ac/]ac]) r(x, y)

5.

Answer :r(ax + b, cy + d) = (ac/|ac]) r(x, y)

e Question No. 61
Which of the following statement is not true?
Options:

1. Correlation co-efficient is the arithmetic mean between the regression coefficients.
2. Regression co-efficient are independent of change of origin but not of scale.
3.1f r=0, then the lines of regression are perpendicular to each other.

4. Both the regression co-efficient and the correlation co-efficient have the same sign.
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Answer : Correlation co-efficient is the arithmetic mean between the regression coefficients.

e Question No. 62
The trend line with 1975 as origin is Y = 20.6 + 1.68X, the trend line with 1971 as origin will be -
Options:

1.Y=206+672X
2.Y =13.88 +1.68 X
3.Y =34.61+1.68X
4.Y =2632+6.72X

5.

Answer : Y =13.88 +1.68 X

e Question No. 63
Which of the following methods to measure seasonal variations comparatively utilizes the given data less?
Options:

1. Simple average method
2. Ratio to trend method
3. Ratio to moving method
4. Link relative method

5.

Answer : Ratio to moving method

e Question No. 64
Residual method is used to measure -

Options:



1. Trend

2. Irregular fluctuations
3. Cyclic fluctuations

4. Seasonal variations

5.

Answer : Cyclic fluctuations

e Question No. 65
For the given 6 values 15, 24, 18, 33, 42, 54, the three yearly moving averages are -
Options:

1.19, 25, 31, 43

2.19, 25, 30, 43
3.19, 25, 31, 42
4.19,17, 30, 42

5.

Answer : 19, 25, 31, 43

e Question No. 66
Supply Curve is a part of -
Options:

1. Marginal Utility Curve

2. Marginal Revenue Curve
3. Marginal Cost Curve

4. Marginal Product Curve

5.

Answer : Marginal Cost Curve

ixam
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e Question No. 67

Which of the following is not a cause of rightward shift of demand curve?
Options:

1. Favourable change in tastes

2. Increase in the price of a substitute good

3. Decrease in the price of a complementary good

4. Increase in income of the consumer for inferior good

5.

Answer : Increase in income of the consumer for inferior good

e Question No. 68

As per the Agricultural Census 2015-16, total number of operational land holdings in Rajasthan was -

Options:

1. 68.88 Lakh
2.76.55 Lakh
3.65.84 Lakh
4.78.81Lakh

5.

Answer : 76.55 Lakh

e Question No. 69
Which of the following statement is not true?
Options:

1. Paper currency is the main currency of the country.
2. Paper currency has an unlimited legal tender.

3. Paper currency can be used to settle debts and make payments to an unlimited amount.
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4. None of the above

5.

Answer : None of the above

e Question No.70

Which of the following is a second-order condition of short-run equilibrium of firm under perfect competition?

Options:
1. MC = MR
2. MC = Price

3. Slope of MR < Slope of MC
4. Slope of MC < Slope of MR

5.

Answer : Slope of MR &lt; Slope of MC

e Question No. 71

A certain sum of money trebles in 6 years by some rate of simple interest. In how many years it will be five times?

Options:

1. 8 years

2.10 years
3. Myears
4.12 years

5.

Answer : 12 years

e Question No. 72

The length and breadth of a rectangle are changed by + 30% and -20% respectively. What is the percentage

change in the area of the rectangle?
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Options:

1-6%
2.+6%
3.- 4%
4.+ 4%

5.

Answer : + 4%

e Question No. 73

If /0.014 x0.14p =0.014x0.14 ,/q, then the value of E 5 —

Options:

1.0.196
2.0.0196
3.0.00196
4.0.000196

5.

Answer : 0.00196

e Question No. 74

3

The value of |21 + 59+J16+?{/?22+m is -

Options:

1.4
2.5

3.6
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4.8

Answer:5

e Question No. 75

A student divided a number by (2/3) instead of multiplying it by (2/3). how much percentage error is in the

calculation?
Options:

1.125%
2.80%
3.25%
4.0%

5.

Answer : 125%

e Question No. 76

In 30 litres mixture of milk and water, the ratio of milk and water is 7:3. What would be the quantity of water to be

added in the mixture in order to make this ratio 3:7?
Options:

1. 40 litres
2. 42 litres
3. 45 litres
4. None of these

5.

Answer : 40 litres

e Question No. 77
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(36.343 <7) is equal to -

(a) 5.
(b) 5.
() 5.
(d)5.2T

o T S
Sk

Options:

1a

2.b
3.c
4.d

5.

Answer: a

e Question No. 78

A'is the smallest number such that both 1452 x A and 1452 + A are complete square numbers. A is equal to -

Options:

1.4
2.3
3.2
4.1

5.

Answer: 3

e Question No. 79

During one year, the population of a village is increased by 5% and during next year it decreased by 5%. If at the

end of the second year, the population is 7980, then the population at the beginning of the first year was -



ixam

Options:

1.7980

2.8000
3.8020
4.8200

5.

Answer : 8000

e Question No. 80

With an average speed of 50km/h, a train reaches its destination in time. If it goes with an average speed of

40km/h, it is late by 30 minutes to reach its destination. What is the length of the total journey?
Options:

1.100 km
2.110 km
3.90 km
4.105 km

D;

Answer : 100 km

e Question No. 81
Number of rows in MS Excel is equal to -
Options:

1.75536

2.65536
3.56536
4.56563

5.

%



Answer : 65536

e Question No. 82

Size of IPv4 address is -

Options:

1. 8 bits

2. 32 bits

3. 64 bits

4.128 bits

5.

Answer : 32 bits

e Question No. 83

The first introduced Web browser is -

Options:

1. Mosaic

2. Internet Explorer
3. Netscape

4. Chrome

5.

Answer : Mosaic

e Question No. 84

Special effects used to introduce slides in a presentation are called -

Options:

1. Effects

ixam
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2. Custom animations
3. Transitions
4. Present animations

5.

Answer : Transitions

e Question No. 85

In MS Excel 2019, what is the result of the formula = RIGHT (“india", 2)?
Options:

1. ai
2.ja
3.aa
4. Error

5.

Answer : ja

e Question No. 86

Which of the following Tab is used to change the colour of document content area in Microsoft Office 365 Word?

Options:

1. File
2.Home
3. Insert
4. Design

5.

Answer : Design

e Question No. 87



The default font for MS Excel 2019 datasheet is

Options:

1. Arial 11-point

2. Arial Black 11-point

3. Calibri 11-point

4. Times New Roman 11-point

5.

Answer : Calibri 11-point

e Question No. 88

What is the maximum font size which can be applied for any character?

Options:

1.163
2.168
3.1638
4.16038

5.

Answer : 1638

e Question No. 89

Concatenation of text can be done using -

Options:

1. Apostrophe ()
2. Hash (#)

3. Exclamation (1)
4. Ampersand (&)

5.

ixam
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Answer : Ampersand (&amp;)

e Question No. 90

The oldest spreadsheet package is -

Options:

1. VisiCalc

2. Lotus 1-2-3
3. MS Excel
4. StarCalc

5.

Answer : VisiCalc

e Question No. 91

In MS Excel 2019, address of currently selected cell is shown in -

Options:

1. Name Box
2. Formula Bar
3. Status Bar
4. Title Bar

5.

Answer : Name Box

e Question No. 92

For which of the following groups of commands, only one dialog box appears?

Options:

1. Find, Go To
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2. Go To, Replace, Find
3. Find, Clear, Go To
4. Clear, Go To, Replace

5.

Answer : Go To, Replace, Find

e Question No. 93

Where is BCC used?

Options:

1. Search Engine

2. Web browser

3. E-mail

4. High Level Language

5.

Answer : E-mail

e Question No. 94

Which of the following is used to reduce the font size?

Options:

1. Ctrl +]

2.Ctrl + [

3. Ctrl +Shift + <
4. Both (b) and (c)

5.

Answer : Both (b) and (c)

e Question No. 95



In MS Excel, which of the following formula will give current system date?

Options:

1. TODAY ()

2.NOW ()

3.Both (a) and (b)

4. None of the above

5.

Answer : Both (a) and (b)

e Question No. 96

Which of the following is not the possible way of data exchange?

Options:

1. Half-duplex
2. Full-duplex
3. Simplex

4. Multiplex

5.

Answer : Multiplex

e Question No. 97

PDA stands for -

Options:

1. Personal Data Assistant
2. Personal Data Account
3. Personal Digital Assistant
4. Personal Digital Account

5.
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Answer : Personal Digital Assistant

e Question No. 98

Which of the following service is created to confirm if the given computer (with given IP address) exists and is

connected to Network?
Options:

1.Ring
2.Ding
3.Sing
4. Ping

5.

Answer : Ping

e Question No. 99
Which of the following shortcut is used to group the selected shapes together in MS PowerPoint 2007 slide?
Options:

1. Ctrl + Shift + G
2.Ctrl+ G

.Ctrl+Y

4. None of the above

5.

Answer : Ctrl + G

e Question No. 100
In MS Excel 2019, which of the following operator has the highest precedence?

Options:
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1+
2"
3. &
4. %
5.
Answer : %
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